ENGLISH GRAMMAR WORKSHEET – CLASS X
FIRST TERM 
I . Complete the following passage by choosing the most appropriate option from the ones given below.
 Like many Indian children , I grew up (a) _____ the vast ,varied and fascinating tales of Mahabharata. Set (b) _____ the end of what the Hindu scriptures term Dvapur Yuga or the third age of the man a time (c)_____ the lives of the gods and the people still intersected , the epic weaves myth, history, religion, science and statecraft (d)______ stories.

(a) (i ) saying    (ii) listening to (iii) questioning  (iv) celebrating

(b) (i) by            (ii) at                  (iii) from              (iv) into

(c) (i) where     (ii) from             (iii) when             (iv) before

(d) (i) as             (ii) in                  (iii) through         (iv) into
II . Complete the following dialogue by choosing the correct options.
Ray      : I (a)_______________ four of my friends to dinner today.

Rina     : Then I (b) ________________ my friends also.

Ray      : (c) ___________________ a good idea.

Rina     : So, (d) ________________________ for dinner?

Ray      : Let us decide the menu now.

(a) am inviting / will invite / have invited / shall invite

(b) am to invite / may invite / could invite / will invite

(c) That will be / This may be / This should be / That must be

(d)  what should we have  / what can we have / what may we have /what might we have
III . Complete the following sentences by choosing the most appropriate options .

  We never (a)__________________ within the next moment. The future is totally (b) ________and no one can read it.However , (c )_______________after reading some books on astrology most predictions about weather (d)________________even though there may be some correctness.           

              (a)1.guess what is                                         2.hope what is

                     3.hope what lies                                      4.know what may happen

              (b)1.in the dark                                              2.obscured

                     3.unreading                                               4.unanalysable

               (c )1.one can know little                            2.we may guess

                       3.we calculate some stars                  4.prophecy can be made

                (d)1.are not accurate                                  2.can never be accurate

                       3.may be accurate                                  4.should be accurate

IV . The following passage has not been edited .There is one error in each line. Write the incorrect     word and the correction against the correct blank number.
                                                                                                        Error             Correction
Without the knowledge on grammar it                                   e g. on                      of

become impossible for one to write and speak                           (a)

correct .One can remember that all knowledgeable          
 (b)

persons judged a man by his writing or speaking.                
 (c)

Grammar is not something that should be learnt                
 (d) 

part by part. Its learning demands more reflection,            
 (e) 

patience and a effort on one’s part. Once it is learnt ,       
 (f ) 

it will be  there with you all their life.It demands a              
 (g) 

willingness at your part.                                                                         (h)
V . In the passage given below one word has been omitted in each line. Write the missing word along with the word that comes before and the word that comes after against the correct blank number.

Alfalfa is flowering plant that                                        eg.               is a flowering
has small flowers.This plant live                                                     (a)
for more than twenty years  depending the                               (b)
climate.Plant can grow to a height                                                  (c)
of three feet very deep roots.This plant                                        ( d)
used in the treatment of digestive                                                    (e)
kidney disorders in China.In                                                               (f )
India , the leaves of this plant                                                              (g)
used in poor digestion.                                                                            (h)
VI . Rearrange the words/phrases to form meaningful sentences.
1. plainly / she / because / could not / she / well / dress / dressed

2. to / an / clerk / married / she / ordinary/ was

3. she / didn’t / beautiful / the / for / ball / have / a / dress / wear / to

4. so / happy / feel / when / she / know / to / she / came / the / invitation / about / didn’t
VII . Read the conversation given below and complete the passage that follows.
   Jain       :  When is the fancy dress competition in your school ?
  Manna :   It is after two weeks.

  Jain        :  Are you taking part in it ?

 Manna   :  Yes , I am taking part as a driver.

 Jain         :   Why have you chosen that ?

 Manna   :   So that I can reach  late.

Jain asked Manna (a) ________________.Manna replied that (b) ________________.Jain enquired (c)_______________.Manna said that(d)____________.Jain asked why(e)_______________.She answered that then (f)__________________________.   
